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QUESTION 1

A vSphere operator finds this error message:

Device or filesystem with identifier [naa.6000eb31dffdc33a000000000000002a] has entered the All Paths
Down state.

What should the operator conclude from this error message?

A. A host Is Inaccessible, and migration of affected VMs is expected.

B. A host failed, and automated recovery of affected VMs Is expected.

C. A storage device has failed and is not expected to become available.

D. A storage device is inaccessible and is expected to become available.

Correct Answer: D

QUESTION 2

Which feature allows an administrator to implement master copies of virtual machines to create ready-foruse virtual
machines?

A. Templates

B. Resource Pools
C. Snapshots

D. Custom Attributes

Correct Answer: A

QUESTION 3

Which vSphere feature mitigates common optimization challenges?
A. vSphere Trust Authority

B. vSphere High Availability

C. vSphere DRS D. vSphere Fault Tolerance

Correct Answer: C

QUESTION 4
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An administrator is trying to configure EVC on a cluster that has both AMD and Intel hosts, but the configuration is
failing. What is causing this failure?

A. The administrator did not separate out the hosts by processor type prior to enabling EVC.
B. The administrator did not configure vMotion on all hosts prior to enabling EVC.

C. The administrator did not remove all passthrough devices prior to enabling EVC.

D. The administrator did not configure vSphere HA prior to enabling EVC.

Correct Answer: A

QUESTION 5

An administrator would like to enable a switch setting to restrict the network bandwidth that is available to ports, but the
solution must also allow bursts of traffic to flow through at higher spends.

Which vSphere Distributed Switch setting accomplishes this goal?
A. Monitoring

B. teaming and failover

C. Traffic shaping

D. Security

Correct Answer: C
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